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Tow chords AB and CD of a circle
intersect at O. if CO = 4 cm, OD =
3.75 cm, and AB = 8 cm, then what
is the length (in cm) of the smaller
among AO and OB?

Ueh gd @l & Silare AB 3R CD, O W
gidToe ddl ol e CO = 4 AT, OD =
3.75 UHT 3T AB = 8 @&AT g, dl AO 3R

OB #H & BICI 8T sl (BHT H) 1 8 ?
(g-x)xe.-.lfp{ (a) 5.25 F@

(c) 2.75 [d]5
4 2021 (Shift- 2
(5)3 @ SSC CHSL 04/08/2021 (Shift




In a circle, AB and DC are two
chords. When AB and DC are
produced, they meet at P. If PC = 2.8
cm, PB=3.15cm and AB = 3.85 cm,
then CD =?

Us gd H, AB 3R DC T SfiaIv §| 59 AB
3R DC &I §¢1=™IT JATdT 6, d9 9 P 9 [Aed
&1 afeg PC = 2.8 ¥, PB = 3.15 T&AT 31X

-&.—ﬁ—a:—g———’AB= 3.85 A, AT CD = ? @
R—>F (a) 7.875 cm \(bYS.075 cm

C\__.,’ €3 (c) 6.975 cm (d) 4.175 cm
- '.'."7"’% SSC CHSL 05/08/2021 (Shift- 1
X







D, E and F are the feet of the
perpendiculars from the vertices A,
B and C, respectively, of a triangle
ABC. If angle BED and angle BFE (in
degrees) are 24 and 110,
respectively, what is the measure (in
degrees) of angle EBF?

D, E 3R F U& {3357 ABC & fivf A, B
3R C @ HHU: dFaad & U gl Il HIoT
BED 3iX 0T BFE (330 #) a2 24 3iR
110 &, df T EBF &7 AT (33 #) a7

(a) S5 (b) 67

uef 46 (d) 86

SSC CHSL 06/08/2021 (Shift- 1)







The difference between the two

perpendicular sides of a right-angled
? \4 triangle is 17 cm and its area is 84

cm2. What is the perimeter (in cm)
of the triangle?

Tsh FHIVT [FTST T &T STqad 3T & g
H AR 17 AT § 3R sgH1 935 84

X PR=1638 ©?
P’:mr_ mgo, @ \— (c) 56 (d) 65




The sides AB, BC and AC of AABC

are 12 cm, 8 cm and 10 cm,
respectively. A circle is inscribed in
the triangle touching AB, BC and AC
at D, E and F, respectively. The ratio
of the lengths of AD to CE is:

AABC I 8751131 AB, BC 3R AC & &«Tg
” W € z C ShART: 12 TAT, 8 AAT 3R 10 AT &1 ey
& T U gd &I1m Sam § ST AB, BC

A->F 5% 42=30=) mAcao*ramar D, E 3T F 9T TG &H{dr
‘3253 i F3 S%l AD 31X CE & oia1s # fohaar 3 &:
?_.L_-;-_-l (a) 5:7 (b]3:5®
Z \? (c) 10: 7 AH7:3

SSC CHSL 10/08/2021 (Shift- 3




K, - Two circles of radii 18 cm and 12 cm
V& \ <6 intersect each other and the length
of their common chord is 16 cm.

What is the distance (in cm) between
their centres?

18 TAT 3T 12-8#A 351 arel ar g Teh
gaY # gfaeoe i & 3R 3 safase
Sar ¥ oS [ 6 Qe &1 39 Fef F O
Tu T QX (H#AT H) F7 82

o some (@) 2V5(4 -113)
Ty () 2J§(4+Flu<

CommN\ () 2f(~2+r)0<
Canvd D

{{d)/2V5(2 + V13)

SSC CHSL 10/08/2021 (Shift- 3




In AABC, Z/A=135°, CA=5/2cm

and AB = 7 cm. E and F are the
midpoints of sides AC and AB

respectively. The length of EF (in
cm) is:

AABC § <A =135°, CA=5/2cm

A 4_‘: @ 3 AB = 7 cm ¥| E 3iR F, F5%: 55T AC
3R AB & #EY g & EF #T o€1g (cm #)

H ATd H1|

(a) 5 (b) 6

(c) 5.5 qdf 6.5

SSC CHSL 12/04/2021 (Shift- 1)






If a and b are the lengths of two sides

OKL.) — Qtﬁ of a triangle such that the product

G ab = 24, where a and b are integers.

(D h(q(‘l 3¢ <Q$ @ then how many such triangles are
possible?

af; famelt FsgeT 1 &) syaait 1 oS a 3R

@ X122 Jod <\ @ gﬂmﬁﬁ?wﬂﬂab=24’é‘,aﬁa

b QUi &, o & HeTfaa Feger @
3 3x % ¢ L\ @ ey |68 PSS,
(a) 18 qm{s

) 12 (d) 15
@ M X § < <10 SAARI I SC CHSL 12/04/2021 (Shift- 3)




‘How many isosceles triangles with
A g integer sides are possible such that
the sum of two of the sides is 16 cm?

g Bsrer wera § g1 ar 73t & AT 16

a) 24 (b) 15

@ Atx=16 @9@-3.;% () 9 (d) 18

SSC CHSL 13/04/2021 (Shift- 3)




APQR is inscribed in a circle. The

bisector of ZP cuts QR at S and the
circle at T. If PR = 5cm, PS = 6cm
and ST = 4cm, then the length (in
cm) of PQ is:

APQR ! fR&l gd # 3dafATAT foram aram 8
/P &1 FHC[AHTSH, QR FI g § W
Fredl & AR gd H fog T W Frear § I
PR =5cm, PS = 6 cm 3K &, dl PQ &I

TS (cm) AT Y

(a) 13 4-11‘)/12

(c) 10 (d) 15

SSC CHSL 19/04/2021 (Shift- 1)



In AABC, D and E are points on
sides AB and BC, respectively, such

that BD: DA=1:2and CE: EB=1
: 4, If DC and AE intersect at F, then

FD : FC is equal to:
AABC #, ¥ AB 3iR BC W H#: fdg D

IREsTTsR Tude fF BD: DA =1:
2 3iRCE:EB=1:4¢g| J¢ CD 3R AE
uqaq\mquﬁngqﬁmﬁ?rm%,a‘r
FD : FC &T AT ATd &1 Comtoms

(a) 3:2 (b) S:2

(T8 :3 Cw“'\’“ﬂ_,‘d“'.:l










In APQR, /PQR=135°, PQ =82

and PR = 17cm. What is the length
(in cm) of QR?

APQR #H, /PQR =135°% , PQ =82
3R PR=17cm & QR &I &&5 (cm H)

AT P
(a) 10 7
(c) 9 (d) 8

SSC CHSL 19/04/2021 (Shift- 2)




In a triangle ABC, if the three sides

A are a = 5, b =7 and ¢ = 3, what is
angle B?
2 A v f3esT ABC #, e I 3T a = 5,
b=73R ¢c=38§, dl 3T BT g?
XA (a) 150 (b) 60
S c.  (c)90° (d) 120
(or0= 419 LYo

R3¢
(g = =190
\ “‘...i Q=120 @



Among the following options, which
are NOT sides of a triangle?

fiFsTiel I fashedl & & lT-Ar Y7
(a) 3cm, S cm and 4 cm
(b) 12 cm, 9 cm and 15 cm

(c) 20 cm, 20 cm and 20 cm
(}d) 3cm,5 cmand 1 cm

-‘2<§<<\\ @



Pz X
1 L 1
c £ R

If the corresponding angles of two
triangles are equal and satisfy
e W L

af & Pt & o BT A @ Ak
et O Dy
¥ ER RF EF

W APXZ,AREF & 99T &
At APXZ,AERF & §A%Y @

®

(c) APXZ,AEFR & T9%U 8
(d) AXPZ, AERF & 9969 2

CP03wy



Given below are some of the
measures of the sides and angles of
five triangles. Which of the triangles
given in the options is NOT
congruent to AABC?

At Pt B st AR @l &
$G AT U T §| [Ohedl H & Hid @
fssT ABC & HAETHH T8l 82

In

AABC; m(AB) = 3.6cm, m(BC) = S5cm ,
In

m(CA) = 4cm, m(/B) = 52.4°, m(/C) = 45.5°

In




ADEF; m(DE) = 4cm, m(EF) = S5cm, m(FD) = 3.6cm
In

AGHI; m(HI) = 5cm, m(ZH) = 52.4°m (ZI) = 45.5°
In

AJKL; m(JK) = 3.6cm, m(L}) = 4cm, m(£J) = 54.4°
In

S AMNQ; m(MN) = 3.6cm, m(NO) = Scm, m(£N) = 52.4°
H - uzKJKL (b) AMNO

(c) AGHI (d) ADEF
A 'z@
WY




The perimeter of a right triangle is
60 cm and its hypotenuse is 26 cm.
What is the area of the traingl?

Ush HHABIOT ST F1 IRATT 60 FAT 3R
SHT HUT 26 VAT &1 TS T &bl




The area of a square and

rectangle are equal. The length of

the rectangle is greater than the

]:q'tgngth of a side of a square by 10 cm

o\ a-+Ho and the breadth is less than 5 cm.
The perimeter of the rectangle is:

Q’::@\/\ Teh gar 3R 3T T &9%o U ardar

0 ) a -~
Ozsqt)?os) &1 I T SIS T TN HY IS Y TS

¥ 10 3T 38« 33#R dlss 5 a7 @ FA
el 3rad & aRfe &
CJ'S (a) 40 (b) 80
0

(c) 100 50
W i



In a triangle ABC, D and E are
points on BC such that AD = AE and

ZBAD = LZCAE. IfAB = (2p + 3), BD =
2p, AC = (3q - 1) and CE = q, then
find the value of (p + q).

U 33T ABC #, D 3iR E, BC R UH
f9g & T AD = AE 3iR ZBAD = ZCAE|
e AB = (2p + 3), BD = 2p, AC = (3q -
1) 3IR CE = q, d (p + q) &T &AM AT

(c) 3.6 (d) 2

$ITAT|
af 3 @ (b) 4.5




A circle is inscribed in AABC,
touching AB, BC and AC at the
points P, Q and R respectively. If AB
-BC=4cm, AB - AC = 2 cm and the
perimeter of AABC = 32 cm, then

B—C\‘ﬂ 3 EESSC CGL 19.04.2022 (2nd Shift)
2

z--. "_:' >

ﬁa‘aﬁa ¢! AB, BC 3R

T g AABC 7

‘j—"-'?'*g Il:%:; AC # %A fdg P, Q 3R R W T
=k  2yiz=le FIAT ¥ I AB - BC = 4 @), AB - AC
$ 13 20
3z=10 Mg lb1—=2@?ﬁ3ﬂTaABca:rqﬂmtr=32@?ﬂ
=0

3‘ (c)E (d)—%?—l’f (cmﬁ)Eﬁrﬂmw’é"



ﬁ In a triangle ABC, the

bisector of angle BAC meets BC at

point D such that DC = 2BD. If AC -

& AB = 5 cm, then find the length of
AB (in cm).

U fI¥ST ABC #H, &I BAC &
FHGGHTST BC ¥ [dg D W 50 TR

0

_b C fAoar & @ DC = 2BD &1 If& AC - AB
' 2 = 5 JAY, AB & des (@FAT H) AT
[ |
——>5 ) 5 (b) 10

(c) 12 (d) 7

SSC CGL 19.04.2022 (3rd Shift)



In a right-angled triangle, the
lengths of the medians from the
vertices of acute angles are 7 cm and

H 4./6 cm. What is the length of the
hypotenuse of the triangle (in cm)?

UF WASIOT FSr A 77 Foi F ofist @
Afegwt i darg 7 3 3R 46 A
¢l Berer & For & darg (@ ) Fw 89

M=y (349
B tgpgrq @B ) 5B
H=319 el 2429 (d) 35+2J_

@ SSC CGL 19.04.2022 (3rd Shift)







In a right triangle ABC, right
angled at B, altitude BD is drawn to
the hypotenuse AC of the triangle. If
AD =6 cm, CD = S cm, then find the
value of AB™ + BD~ (in cm).

fastsT ABC &, B TX HHSIUT
BD f3%{sT & FoT AC W @idl 7§
afX AD = 6 ¥4, CD = 5 37, @ AB-
+ BD— (@ &) &1 A 7a e

(a) 36 (b) 96
(c) 30 (4] 96 @
SSC CGL 20.04.2022 (1st Shift)




©

4
M=—s™' S
13:2C
196 25

a) — b) —
@) 25 ‘ )196

171 25
i (d) ==
25 171

SSC CGL 20.04.2022 (2nd Shift)

In triangle ABC, X and Y are
the points on sides AB and AC,
respectively, such that XY is parallel
to BC. If XY : BC = 2.5 : 7, what is
the ratio of the area of the
trapezium BCYX to that of the
AAXY?

f%(sT ABC #, X 3R Y ##T: AB 3R AC
oAt 9 59 YHKR fag § @ XY, BC &
A ¢l ¢ XY:BC=2.5:74%, a
AHAGFa dIqdsl BCYX & &9%d &I
AAXY & &1F%d & IeTqid F4T 87



A circle is circumscribed on a
quadrilateral ABCD. If ZDAB = 100

>, ZADB = 35° and ZCDB = 40° ,
then find the measure of ZDBC.

fFHt Tqisr ABCD & 9fera v+ Ia Bl
Ife Z/DAB = 100°, ZADB = 35° 3Rk £
CDB = 40° §, d9 ZDBC &I HIY #Ad

SIS

(a) 40° (b) 35°
(c) 45° ¢dy 60°

SSC CGL 20.04.2022 (3rd Shift)




In the following figure, AD
bisects angle BAC. Find the length
(in cm) of BD.

frafaf@a smsfa A, AD Flor BAC I
gHAGIANTISId FaT ¢l BD Hr darg (FH
A3 ) e B
A 2x-3
N=6 & .
A2 X o) A-22]
£ 6.7(‘{7(—2)(7_-)(-3) J':( X-2 D X C
\ (¢4 (b) 6
A9 g (c) 9 (d) 5
A2



S and T are points on the
sides PQ and PR, respectively, of A

PQR such that PS X PR = PQ X PT.

If /Q =96° and ZPST = ZPRQ + 34
, then ZQPR =7

APQR &I T3 PQ 3R PR W HA:

fig S3IR TsH YR & & PS x PR =

PQ x PT ¢l If¢ £Q =96° 3R ZPST =

ZPRQ +34° g, dl ZQPR="?

(a) 26° (b) 24°

et 22° (d) 25°

SSC CGL MAINS 29 Jan 2022



ﬂ In AABC, AB=20cm, BC =7
cm and CA = 15 cm. Side BC is

produced to D such that ADAB ~

L % ADCA. DC is equal to:
AABC #, AB = 20 34T, BC = 7 84T 3R
B d CA = 15 ¥ §| T BC & D ds$ 38
F D YR §&1AT AT & 9 ADAB ~ ADCA ¢
ADAR~ ADCA DC &I HAH T g?
DA=DB A8 SSC CGL MAINS 03 Feb 2022

DC A _CA V_m’ﬁ cm (b) 8 cm ®
Y :__“;5/-_?3. (c)10cm  (d) 7cm (@)

31 3 Y SSC CGL MAINS 29 Jan 2022

x
N i

Rt B







A1 and A2 are two regular

C"V] —Q\)Xwé:: l 93’6{ polygons. The sum of all the interior
| e

angles of A: is 1080°. Each interior

V)= angle of A2 exceeds its exterior angle

' by 132°. The sum of the number of
sides A; and A: is:

I-'E-':l%L AlmAzaﬁﬂﬁHW%l A; & g

1T+E=1%0 HARS HIUN ST AT 1080° &l Az I

QE-_— Ug Jde A& HIUT S dgdl HIoT I

E=qy gyl 132" 30w &1 A 3R A siomsit #r e

— _ T IIaT &7
M= ﬁ' 19 (a) 21 8 (b) 22

’3’( f) 23 (d) 24

SSC CGL MAINS 03 Feb 2022




In AABC, D and E are points
on the sides BC and AB,

respectively, such that ZACB = £

DEB.IfAB=12cm, BE =5cm an BD
: CD =1 : 2, then BC is equal to:

AABC #H, D 3R E %#H: BC 3 AB &I

AT W 30 IR YA 9 ¢ & £

ACB = /DEB ¢| ¢ AB = 12 4T, BE

=53AT IR BD:CD =1:2,d BC

fras seT &?

(a) 83 cm @ (b) 5/5¢cm
u,trﬁxfgcm (d) 63 cm
d=(IC ¢, R SllSSC CGL MAINS 03 Feb 2022




P\ In AABC, ZA = 50° , BE and
CF are perpendiculars on AC and AB
at E and F, respectively. BE and CF

intersect at H. The bisectors of ~Z
HBC and ZHCB intersect at P. ZBPC

numBEBRY 5T,

AABC #, ZA = 50°, BE 3R CF $#H:
AC 3R ABTT E 3R F oY &€ad &| BE
IR CF, H W 9id=dg ad &l £LHBC
IR ZHCB & HAGAATSS P 9T Hideda

${d &1 BPC fhas seR §?
) 155° (b) 100°
(c) 115° (d) 120°

SSC CGL MAINS 03 Feb 2022



&

In equilateral AABC, D and E
are points on the sides AB and AC,
respectively, such that AD = CE. BE
and CD intersect at F. The measure
(in degrees) of ZCFB is:

HHATE AABC #, D 3R E &AA”: AB 3R
AC &1 H3T R Tdg & >4 T AD = CE
¢! BE 3R CD, F ©X 9fd<ee &d gl dl

ZCFB &T A9 &1 (f33f #) 87
wA4) 120° (b) 135°

(c) 125° (d) 105°

SSC CGL MAINS 03 Feb 2022




In AABC, AB =48 cm, BC =55
cm and AC = 73 cm. If O is the
centroid of the triangle, then the
length (in cm) of BO (correct to one
decimal place) is:

AABC #, AB = 48 @#T, BC = 55 ¥#AT 3T
AC = 73 THI gl Tlc O AT F Hegh
g, dl BO &I o€rs (FT #) wa%maa

TAT da& Tal) o
(a) 25.6 24.3
(c] 20.4 (d) 18.3

SSC CGL MAINS 03 Feb 2022




